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Please write clearly in block capitals.
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Centre number Candidate number

Forename(s)

Candidate signature

GCSE
Mathematics

Foundation Paper 2 Calculator
Summer 2018 Time allowed: 1 hour 30 minutes
Materials For Examiner’s Use
For this paper you must have: Pages Mark
« a calculator
«  mathematical instruments. 4
4-5
Instructions 67
+  Use black ink or black ball-point pen. Draw diagrams in pencil. 8-9
«  Answer all questions. 10 =11
*  You must answer the questions in the spaces provided. Do not write
outside the box around each page or on blank pages. 12-13
* Do all rough work in this book. Cross through any work you do not 14 - 15
want to be marked.
16 —17
Information 18— 19
«  The marks for questions are shown in brackets.
*  The maximum mark for this paper is 80. 2021
*  You may ask for more answer paper, graph paper and tracing paper. 22-23
These must be tagged securely to the answer book.
o Y TOTAL
Advice
* In all calculations, show clearly how you work out your answer.
8300/MissB/2F

[ Teacher Class

WWW.missbhsresources.com



Practice Paper Overview

Q Topic Mark | Total
1 Place Value 1
2 Solve One Step Equations 1
3 Factor and Multiples 1
4 Probability in Words 1
5 Using a Calculator 2
6 Money Problem 5
7 Bar Chart 3
8 | Area and Perimeter Problem 3
9 Frequency Tree 5
10 | Angles in a Triangle 3
11 | Speed Distance and Time 2
12 | Percentage Change 2
13 | Construction 3
14 | Best Buy Problem 6
15 | Function Machines 4
16 | Probability Algebra 4
17 | Ratio Problem 3
18 | Angles in Polygons 4
19 | Compound Interest 3
20 | Product of Prime Factors 3
21 | Averages from a Table 6
22 | Pythagoras’ Theorem 3
23 | Expand and Simplify 4
24 | Right-Angled Trigonometry 2
25 | Error Interval 2
26 | Venn Diagram 4

Total

o)
o
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Answer all questions in the spaces provided.

41 What is the value of the 5 in the answer to 51.03 + 1007
Circle your answer. =0:-51073%

50 5 @ 0.05 0.005

2  Solve24x=6 x=_6 =

Circle your answer.

144 4 1

o=

é %
CHPEE

3 Circle the multiple of both 6 and 9 g @ 1

3 24 @ 81
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4 Whatis the probability of throwing a zero on a fair ordinary dice?

: i - ! . 4 WCe -
Circle your answer. There afé RC TSO'S onN & A

__,_——'—-\\)
6 mpossible Even Certain

Unlikely Likely

5 (a) Use your calculator to work out v308 as a decimal.

Write down your full calculator display

Answer | 7 - 5{-}-qq LE7T 7

5 (b) Give your answer to part (a) to 1 decimal place.

- £
Answer ‘ [+3
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6 Pets for life sell dog supplies.

Danielle has two dogs Luna and Holly.

Luna gets 2 squeaky toys and 1 bone in a week.

Holly gets 1 squeaky toy and 3 bones a week.

How much does Danielle spend in a year on toys and bones?

e e - 52 weeks - [5 marks]
3656(133
Rer woea KK
Lona 4/2\5§Ci)+(wqu Pg( uea -

)
\
= 7.08+1.99 | Y73 %52
= 19,17 /; = £973.9¢6
)
)

Depet

Ho“ug = (1%3.59) (3419
V=195

Total per week (

917 +9-S6 -~ \

=dig. 73 Y l

Answer}q_]%' qCD /
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Do not write
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7 The table shows the sale of hot and cold food in a shop for four days. box
Day Sales of hot food (£) | Sales of cold food (£)
Friday 14 16
Saturday 21 19
Sunday 3 17

Jack uses this information to draw a composite bar chart.

40‘ : : W
30

20 (20

/%//’; : V) \///ﬂn‘\;jmmcf

0
Friday Saturday Sunday Al
mokqdw)
Write down three different mistakes that he has made. \/\% ,2 -{f’m istadeen .
3 marks]

Mistake 1 The QOyis aren 't \deud

C ( .
Frequency’ Daws 0 Hhae weok
S v

Mistake 2 Thoe 1S o Kaw

i i gniuldau 0_gdotter) un(omidrl\n Hhae 19 cald ( 'ft})

u_\m__jm_ummmﬁ e

m\s’iaka G4 ——vaaps bekupeen o arenthequall
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Do not write
8 (a) Draw a rectangle which is congruent to rectangle A. i~
Label it B. Arypdure eaive. 4 ‘é - LY mavk]
apxiie Wil ¥z
//:/ ,% %
”f{///%@) 0
8(b) Draw a rectangle that has the same periQeter as rectangle A, but a
= Inse = =]
different aréa, Label it C deqao Pl [ mark]
f IXS
)7 23x%
~S>ingioe A= 8
8 (c) Draw a triangle that has the same area as rectangle A.
— . [1 mark]
ol
{ l\ \
¢ Jl\\h \ \K\
77 h 1| !
77 NE) ")
Www.missbsresources.com 6
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9 200 adults are surveyed at random in at a bingo hall.
32% of the customers are male.
106 out of the 200 adults have never won.
The females claimed to have won and lost in the ratio of 3:5.

Complete the frequency tree.

Win

Male

(Lose)

Ty

OSE

) [5 marks]
c4-21

|06 -85

e w5 e
Female

J-32 x200 =664 male  200-64.=136

LUL._’: 7 17 @ A a6 106~

g5=2I1

L Tzlnlia In "7.?!\\‘/

Y

I&&%?:I#J) 66 -

21=63%
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Do not write
10 Calculate the size of angle x iy
Not drawn
accurately
138° d
[3 marks]

ﬂng(m N Staignt ling 180~ 13%=¢7°

J

JTsascldo iy 180 -( G2+442)

=150 -(8¢) = 9£°

Answer K= 9 60
11 This table shows information about journeys X and Y.
Distance Time taken Average
.5;( (: travelled speed
X gs / 1 hour 15 minutes 68 mph
.28 han - |
. |
Y 26 miles 52 mph i
K R
A0minuted =
Complete the table. [2 marks]
Jdiston@ = Sxt Tme =0i= S
= ¥Smilwn = ’/’2_ heol
=30 M0 s
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12 Ashop has recently seen an increase in sales of royal memorabilia.
In March they sold 680 royal memorabilia tea towels.
In April they sold 918 royal memorabilia tea towels.

Calculate the percentage increase in the sale of royal memorabilia tea
towels.
[2 marks]

Change 235
ariainal ~ 650
(J

X 100 =259,

Change = 918-650
" =239

Answer

13 Use a ruler and compasses to construct a perpendicular bisector to the line
segment AB that passes through the point P.

You must show all construction lines. \/ ArC CEaSsing

ling BB in [3 marks]
Hoo pled ‘
Frem poiat P
/ﬂpa Biaﬁ:{'(r_‘j
awCs fem
buae M
Pawnten

20

/perpcﬂt_\.bf
hnl
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Do not wrile
14 Three shops have different offers on the same bags of popcorn. o
Shop 2 Shop 3
g*;EFgf;; . , amseu
9. Half
e \ Price
Each bag costs Each bag costs Each bag costs
£2.50 £1.80 £1.64
Which shop should Rachel purchase popcorn from for her movie night?
You must show your working.
[6 marks]
Snp | Tu)ObOgD‘:r/%LZ«SG‘PPP&
| bak = F125 il
N
Sh()pz. 8)baqo 3. 80%&]80+M/
=43.606
|bag= }1.26 v~
U
Shop 3 2 ba :Qléu}ozz/
| = 42,46
— / |/
lbag = 1123
U
Answer Sh}p L is 4h (:haapm{' g
www.missbsresources.com 11
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15 Here is a function machine.

— 22 (—— +tS &— O

Input ———’TZ>—‘——5>———’ Output

-6
15 (a) Calculate the output if the input is —3.
[1 mark]
((3)x2 = -6
—tL=5 =~
Answer sl \/
15 (b) Calculate the input if the output is 0. [1 mark]
b2 =2.5
- L
Answer 2.5 orZ 3
15 (c) Write an expression for the output if the input is 3x + 1.
[2 marks]

(3 v1)xZ = et 2 v
by +2 -5 = bx -3

b -3 /

Answer

WWW.missbsresources.com

Summer 2018

Practice Paper 1 8400/MissB/2F

Do not write
outside the
box



13

Do not write
16 A bag contains counters that are purple, yellow, blue and white. -
Counter | Purple | Yellow | Blue | White
Probability | 17 H 2x 4| x+2H x+5 | = |00
A counter is chosen at random.
The probability the counter is purple is
Work out the probability it is blue. > 100 in He a
\f) [4 mark]
| 7+2x +X+2 +2ct+S =100 .~
Lx 41204 =100
Ly = 76
X = 19 e
= 14+
=] v
21 / v
Answer [ OQ
WwWw.misshsresources.com 8
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17 Olivia and Sophie share sweets in the ratio of 3:5
Olivia has 12 sweets |less than Sophie.

Work out how many sweets there are all together.

[3 marks]
O)éle le 2 . 2 Iboxen = V"2 /#
- ,"_E; l () ‘@TC}JTEJ ‘ \ \oox = & /

bx & = L& swedds
Answer Ckg

18 A shape has an exterior angle of 30°.

Not drawn
\ // o
0
- 30

18 (a) How many sides does the shape have?

o [2 marks]
N=36C = 32606 =|2 &\0es
Ext 30 '
Answer ]Z /
18 (b) Maria says that the shape tessellates. Is she correct?
e ~_I5S
You must give a reason foryouranm I 7 g
- P
Correct / Incorrec( &&P
[2 marks]

A 17 siced Shape doeon '+ teselake g
the inteins af},cr& o [§0=30°=/50° -
360 =150 :Jz,g 8o 2.4 shapep Fitarand

@ Point - There GO0 be o Oop or &7 with 2o
il S’;’OC(JSHW-&NWW.missbsresourcg.com
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19 Here are the interest rates for a bank account.

Banks R Us

Interest:

2.4% per year compound .
interest. joo%tz o= 1C|2-G %
ERSPLE]

No withdrawals allowed until

the end of three years.

Daniel has £20 000 he wants to invest.

Calculate how much money Daniel will have at the end of the 3 years.

[3 marks]
2ocoe X . qu3 v
=2 670 . §36¢K
Answer QZ?[_){?L,L S gAan )/
20 Express 84 as a product of its prime factors. cn  undex FomMA .
84 [3 marks]

&
2 4T
N
© u
¥

® Q

2 ¥ Z y%x?‘/

Answer ZZ ¥ 55) il
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21 The weights of 40 new born babies were recorded.

Weight Number of .
(w, pounds) babies MP Fx
S5sw<b 8 5.5 -
6<w<38 13 7 q |
8<w<10 11 9 99
10<w<12 8 I 8%
matwas 7 - |
Frequery is O l G40 3L
21 (a) In which class interval is the median? wc+! .
Circle your answer. [1 mark]
5<sw<6 8<w<10
10=sw<12 w =12
21 (b) What is the modal class interval?
Circle your answer. [1 mark]
5<w<6 @ 8<w<10
10€sw<12 w =12
21 (c)  Calculate an estimate for the mean weight of a new born baby.
/ [4 marks]
327 = §.0%
40
Answer 8. 05 pands S
wWww.missbsresources.com
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Hidden P’Cj““"tjms)

Not drawn
accurately

The square has a length of 8 cm.

The circle has a diameter of 11.5 cm.

Will the square fit inside the circle.

You must show your working.

Yes

No

[3 marks]

x =82 +8*

e

= [12¢

,/

. 5 CM = Iftl)p:jﬁ’\u‘:ﬁ Cld‘%}%f LU\@‘(\\B .

/!)

Nl

As 1.3 » srroller then 1S +he SOA)CN_

ooill Arunsice the cirale -

\>dmmf lnges uﬂam\

23 (a) Simplify
i ] 6x%y*
6+9-= 3 . 5178 [2 marks]
xrixa= X
ﬂ =3 _:jg = U"l
‘Jd T » o
Answer 2 DCk\ Or . ‘/
23 (b) Expand and simplify \J
(x —2)(x + 8)
[2 marks]

X 48 =20 -6

Answer ) L“f‘ Lx -6 /
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24 Work out the length x.
Not drawn
accurately

[2 marks]

\
)
\ v
cos(zce) <
Answer 85 \ cm

25 The length of a cut piece of string, s, is 15.8 cm correct to one decimal place.

Write down the error interval for the length of the piece of string.
1678 1<.8S

AL By -\I, |

IS‘7 1S.9
d e
IS-78 < 5§ <« 15895

[2 marks]
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26 Here is a Venn diagram [4 marks]

&

9N

40 homeowners in London are asked if they have a garden or a balcony.
* 18 have a garden

+ 23 have a balcony

* 14 have a garden but not a balcony.

Complete the Venn diagram.

c@ B (23)

&= 14 = & Z%'Q;lq

GG - (1 +ut1Q)
= qao-37
=2

End of Questions
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There are no questions printed on this page
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